EH 22120.

b 2 i
= K K
o0 it of Enl
S Pl M Hi
N i K mﬁ
i W ol
z oo w oo
oo W 4 &
T i R oM
got  gH - o
=T °F7 I~ |D| A_
o <+ z= ~ [H oo 3
&@ [ T | <
il 1o Wl | | oo =
o K TR LY Ty MO Ho <) o
: Ny SH o ST F TR
WAool W B . B oK M R S olko
g K Tw0 R o<dorom W R dwm k-, .
<
T
oF
]
=)
H
) i
pal H
K Rl
o 3
2 S 8 8
wm < ¥ <
i[h] wll wl wll
K N <l N
g W |
W T _T _T
g 3 _ _ o ®@ om
= o KL &< fo<l wuK

K ol T oo, wm. 4.

H|0|x| 1~2|2
FHAl: 13.11.2023

22120.0515 - .0520 (ABIBA AR)

WS

ds

a8

tNHALDER




714 A x|

=]
QleiA BRIX|/ Qleis 2

FE
x|5 ws Amalzl & [
d, d, d; Iy I, 15 s 15 Fy F, Z|cH
-0,02 ~ ETES ETES ~ ~
-0,05
[mm] [mm] [N] [°C] [a]
AHQlE|A AR
5 M10 x 1 21 51,0 5 17 5 15 12 6,0 14 250 43 22120.0615
6 M12x 1,5 25 61,0 6 20 6 17 14 6,5 19 250 71 22120.0616
M16 x 1,5 31 75,5 7 26 8 23 19 11,5 28 250 144 22120.0618
10 M20 x 1,5 31 91,0 10 33 10 30 22 28,0 54 250 203 22120.0620
VEHY BESRY
HM ME
e x| Atol= F 1 ME s,
d;
[mm] [mm] [9]
2} L{E 1SO 8675 (DIN 439), AH|QIE|A AE
M10 x 1 16 52 22120.0515
M12x1,5 18 75 22120.0516
M16x 1,5 24 15,0 22120.0518
M20 x 1,5 30 32,0 22120.0520
)
T8 EF
AME 7H &+ HEE EeiH Hete 5 HEE MESIAUAR
EWNHALDER Blo|x| 2 ~2| 2

FHAl: 13.11.2023


http://halder.com/kr/22120.0615
http://halder.com/kr/22120.0616
http://halder.com/kr/22120.0618
http://halder.com/kr/22120.0620
http://halder.com/kr/22120.0515
http://halder.com/kr/22120.0516
http://halder.com/kr/22120.0518
http://halder.com/kr/22120.0520

